AR LREGREQ
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KOZERIZBNT, [ JAOXFIER L&, TORKEEHEEZVZ,

(1) 2x*—3ax+a*+5 (2], [a]
BE rICHERTLE, W2, EEEa’+5,
alZHATH &, W2, EHIE2x°+5

(2) —b5abx’y*+3axy*—4by

WA x\IHEHRTDHE, W2, EHIH —4by,
YVICHERT DL, &3, BRI,
2L yITERTDE, WIS, EEHITR,
alZHERT DL, WL, ERIH —4by

SoE 23wl
(1) ax*+bx—x'4+ax*—ab

Hii=—x'+ax’+ax’+bx—ab

(2) 2x°+ y*—3xy—2y"+3y+4xy—x*—2x
B ==y +(x+3)y+ (22— 2%)

(3) ax*+a’x—2x*—a’—3ax’*+4a®

mE HA=3a’+xa?—2x%a—242

(4 a¥b—c)+b¥c—a)+cHa—0b)
BX=(b—c)a*—(b%—c*a+(b%c—bc?

e AREAVT, KORE BB L,
(1) (a+3b)°
bt =a’+9a% +27ab?+27b°

2 (2a—-1)°
& =8a—12a%4+6a—1

(3) (—3a+2b)°

Hist=—27a°+54a%b —36ab®+8b°
WA E VT, RORE R L,
(1) x°+16x+48

H=(x+4)(x+12)

@) x2—3x—18
HA=(x+3)(x—6)

(3) x242xy—15y*
5 =(x—3y)(x+5)

(4) y*—6xy—16x°
5 =(y+24)(y—8x)

WY e AN E T, ROKXZ RBO T L,

[x], [y) [x&y]) [a]

TNOILFIZONT, & ONEICEEEE X,

[x]

[y]

[a]

(1) 5x%+4+7x+2 1 e 1 - 5
H#=(x+1)52+2) 5 2 - 2
7
2) 3a2—10a+3 1>< -3 - -9
H#=(a—3)(3a—1) 3 -1 - -1
—10
(3) 4a®+3a—27 1>< 3 - 12
H#=(a+3)(4a—9) -9 - -9
3
4) 2a*—7a—15 1><—5 - —10
53,=(a—5)2a+3) 2 3 - 3
—7
(5) 3x*+17x+10 1>< 5 - 15
X =(x+5)3x+2) 3 2 - 2
17

(. OFMC  )E AHi(
(6) 12x2—25x+12 3 >< —4 - —16
HX=(3x—4)(4x—3) 4 -3 - -9
—25

(7) 5a*+7ab—6b* 1>< 26 — 10
5 =(a+2b)(5a —3b) 5 -3 —> —3b

7b
8) 6x%—xy—12y° 2 >< -3y — —9y
5 =(2x—3y)(3x+4y) 3 4y — 8y

-y

24 72 AREFAWT, RORXE RE M K,
1) 8x°+1
HX=12x)°*+1=(2x+1)(4x*—2x+1)

2) 64x°—27
Hk=(4x)° — 33 =(4x — 3)(16x° + 12x +9)

(3) 8x3427y°
53=(22)"+(39)° =(22 4 3y)(4x2> — 6xy+ 9y

WO % RS R X,
1) x2—6x+9—y?
H=(x—3) =y’ =(x+y—3)(x—y—3)

(2) x*—y*—2y—1
HR=x= (3" +2y+1) =" —(y+1)’=(x+ y+ 1)(x—y—1)

3) 4x2—dy?4+4y—1
53=(22)° - (49— 4y+1) =22’ = 2y -1’ =(2x + 2y —1)(2x —2y+1)

4) x*—2xy+y*—92°
= (x— y)?—(32)*=(x— y+32)(x — y—32)

WO RE iR X,
1) (x+2)%+5x+2)+6
B =((x+2)4+2}{(x+2)+3)=(x+4)(x +5)

2 (x—yi—x+y—12
HR=(x— 9’ —(x—y)—12={(x—y)+3)}(x— y)—4)=(x— y+ 3)(x— y—4)

3) 6(x+)°—5(x+y) —4 2 > 1 - 3
H3={2(x+ y) + 1}{3(x+ y)— 4} 3 —4 - -8
=2x+2y+1)(3x+3y—4) -5

@ (x—3)*—5(x— )z +4z°
G =((x— 3= 2(x— )~ 42} =(x = y— 2)(x — y—42)

(5) (a+b)*+8c(a+b)+16c*
H3={(a+b)+4c)*=(a+ b+ 4c)*

6) (x+y+D(x+y—3)—12
HR=(x+y—2x+y) —15=(x+ y+3)(x+ y—b)

7 (x+3y)(x+3y—z)—62*
R =(x+3y)—(x+3y)z2—622=(x+3y+2z)(x +3y—32)

WY AR U OV TR L, DR & R iR X

1) xy—x—y+1

HRXZE 2 [ZoNWTHEBY 5 L,
HA=(y—1x—(y—-1)=(=x-1(y-1)

(2) ab+bc—cd—da

HRX%E a 2o TS5 &
Hii=(b—d)a+c(b—d)=(a+c)b—d)
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(. O#MC HF Al )

(3) 25—15y+3xy— x*
& ylconTERT L L, REOBEVLWXFICOVWTERTLIONRA!
H#=3(x—5)y—(x2—25)=3(x —5)y— (x —5)(x +5)=(x —5)(—x + 3y —5)

4 a’b+a*-b-1
HEXZ DIZHOWTEMT DL,  REOEWNXFICTOVWTEERT S !
HxX=(a’—1)b+(a?—1)=(a’—1)b+1)=(a+1)(a—1)(b+1)

(5) a’4+b%+2bc+2ca+2ab
HERX%Z clZoWTEET L L,  REOEBVWXFICTOVWTEET S !
H#=2(a+b)c+(a’+2ab+b%)=2a+b)c+(a+b)’=(a+b)a+b+2c)

6) a’+b +bc—ca—2ab
HERXZ clZoWTEET L L,  REOEBVWXFICTOVWTEET S !
H#=—(a—b)c+(a*—2ab+b®)=—(a—b)c+(a—b)*=(a—b)a—b—c)

DR A RES R X
1) 224+@y+D)x+(y+4)(2y—3) 1 S (y+4) — (y+4
HR=(x+y+4)(x+2y—3) 1 (2y=3) = (2y-3)
3y+1
(2) x*+3xy+2y*—6x—11y+5 1 -5 —> —10
HR=x"+3(y—2)x+(2y2—11y+5) 2 >< -1 - -1
— 22+ 3(y—2)x+ (y—5)(2y—1) 1
=(x+2y—1)x+y—5) 1 (2y—=1) — (2y-1)
1 < (y=5) —_ (y=5)
3y—6
() x*—2xy+y*—x+y—2
HR=x2—2y+1)x+(y*+y-2) ><—(y—1> - —(y+2)
=2"—(2y+Dr+(y—1)(y+2) 1 —(y+2) = —(y-1)
=(x—y+D(x—y—2) —2y—1
(4) 2x*+5xy+2y*+4x—y—6 2 3 - 3
HRX=2x2+(5y+4)x+(2y* — y—6) 1 >< -2 - —4
=2x"+(5y+4)x+(2y+3)y—2) -1
=(x+2y+3)(2x+y—2) 1 (2y+3) — (4y+6)
2 < (y=2) - (y=2)
Sy+4
(5) 2x*+xy—y*+T7x—5y—4
HR=2x2+(y+T)x—(y*+5y+4)
=2x"+(y+Tx—(y+4) y+1) (y+4) — (2y+8)
=(x+y+42x—y—1) 2 ><—(y+1) - —(y+1)
y+7
(6) 2x%4+5xy—3y*—x+11y—6 3 -2 - =2
HR=2x*+(5y—1)x—(3y*—11y+6) 1 >< -3 - -9
—2x% 4+ (5y—1)x—(3y—2)(y—3) 1
=(x+3y—2)(2x— y+3) 1 (B8y—2) — (6y—4)
2 X —(y=3) > —(»-3)

5y—1

A=u\u¢wur@%wk¢50&@[:]@WK,eitma@mfn»ﬁv

BLOEEX AL,
M ZI:IA @) ISI:IA 3 ZII:IA ) ZQI:IA

mE 1) e @& @ & @ €

A={x|1=x=<10, x13M8¥) 2%, %4 B=(1, 2, 3}, C=(2, 4, 6}, D=(10, 12},
E=(8m9 b, 4 ADEHNEETHDHLDIZEND,

EEADBEHLEXW DL,
A=(2, 4, 6, 8, 10} 2D,
HEEADHNEATHIDE, CLE

(1, 2) DEGEAEETTHIT,
{a, b, ¢, d) DEHEEZTTEIT,

(1L {2 11, 2)
, (0}, {c}, {4}, {a, B}, {a, ¢}, {a, d}, {b, ¢}, {B, d}, {c, d},
{a, b, c}, {a, b, d}, {a, ¢, d}, {b, ¢, d}, {a, b, ¢, d}

S

U={1, 2, 3,45, 6, 7, 8 QatfEalds, UnFoEs A, BizonT,
ANB=(2}), AnB={4, 6, 8}, AnNB={l, 9 ThHsLx, ROELEERDL,

(1) AUB (2 B 3 AnB
ENENOELSEHTET &, U
HFRDOXHI27 5, A
iy, 3 4B

(1) AUuB={2, 3, 4, 5, 6, 7, 8}

(2) B={2, 4, 6, § 19

B AnNB={3, 5 7

SEEAU L, ZOMHES A, BITHLT,

w(U)=50, nw(AUB)=42, n(AnB)=3, n(ANB)=15
Th b, ROMEERD L.
(1) #(AnB) 2) #(AnB) @) n(A) 4) n(B)
72 (1) n(AnB)=u(AUB)
—n(U)—n(AUB)=50—42=8 u
A B

@2 m(AnB)=n(AUB)—n(ANB)—n(ANB)
=42—-15-3
=24

3) n(A)=n(ANB)+n(ANB)=24+3=27

4) n(AUB)=n(A)+n(B)—n(ANB) XY,
42=27+ n(B)—3
X -T, n(B)=18



